Blﬂal(}‘éll/w 3-PC Full Port Ball Valve

o "o A" STAINLESS STEEL
A3NS SIZE:1/ 4 @ AISI-316 (DIN 1.4408) (ASTM-A351-CF8M)

AISI-304 (DIN 1.4308) (ASTM-A351-CF8)
CARBON STEEL
S-45C (DIN 1.0619) (ASTM-A216-WCB)

FEATURES:

*Pipe thread in accordance with ANSI B2.1, BS 21:1973,
DIN 259/2999, ISO 228

*Pressure rating: 1000 PSI (63 BAR)

*Investment casting body and cap

*Blow-out proof stem

*Screwed end / Butt weld end / Socket weld end

*Lug body

OPTION:
*Locking device
*Anti-static device
*Reduced port
*Fire-safe design

MATERIALS LIST

MATERIALS
ITEM PARTS QrTy 316 304 WCB

BODY 1 ASTM-A351-CF8M | ASTM-A351-CF8 | ASTM-A216-WCB

CAP 2 ASTM-A351-CF8M | ASTM-A351-CF8 | ASTM-A216-WCB

BALL ASTM-A351-CF8M | ASTM-A351-CF8 | ASTM-A351-CF8

BALL SEAT PTFE BiEE [PIF=

STEM AISI 316 AISI 304 AISI 304

Sopz

THRUST WASHER PTFE PTFE PTFE

STEM PACKING PTFE PTFE PTFE + gglg

GLAND NUT AISI 304 AlSI 304 AISI 304 SCREWED END BUTT WELD END&

HANDLE AISI 430 AISI 430 AISI 430

STEM WASHER AlS| 304 AlSI 304 AlSI 304 777’7

STEM NUT AISI 304 AlSI 304 AlSI 304 . —+ g

L —

PLASTIC COVER 1 PV.C PV.C PV.C x‘é A
, [ ) socker WELS?M

LOCK DEVICE 1 AlSI 430 AlSI 430 AlSI 430

BOLT 4(3",4"x6 PCS)| AISI 304 AISI 304 AISI 304

8(2-1/2"x8PCS
SPRING WASHER 3" 4'x12PCS) AISI 304 AISI 304 AISI 304

HEX NUT gg’zill(%zxggg)s AISI 304 AISI 304 AISI 304 PRESSURE-TEMPERATURE

RATING 1/4"-4"

Em =T

Pt

1400

1200
2t4"

1000

800

600

PRESSURE PSI

400

200
/ \
S 1

) 0 100 200 300 400
I

T T T T T
0 50 100 150 200
TEMPERATURE

DIMENSIONS UNIT:mm

Cv
MSgE| od| L racTor| igtam

174" | 11.6 M6X1 6.6 36
3/8" M6X1 79 36
172" M8X1.25 | 11.2 49
3/4" M8X1.25 21 70
1" . M10X1.5 34 95
1-1/4" g M10X1.5 57 135
1-1/2" .5 | M12X1.75 80 180
M12X1.75 252
M18X2.5 265
M18X2.5 675
M22X1.5 780 990




